=

oo

<
5

s

I

re
iy

o A2

=
K

@ {x|x= &5} =12,4,6,8,--)
@ {x|xEZ5) =(1,3,57,)
® {x|xE 109] 24} = (1,2,5,10)
@ {x|x= 39 5} =1{6,12,18--)

® [x|x= 5015ke] A%} = (1,2.3,4)






(1,2,3,4,5) 9 W], XCc A, A-X = {1, 45 =3}

el e

M
i
ol

@ 87H

® 97}

@ 127

rr

® 167

;g

!



of thstd A - B ={c,d},B-A =

@ {a} @ {b) ® {a,b)



;g

=

i)

o
A A2?

oo
o

=z
o T

@ {x|xE2 olste] A4

@ (x|x= 0xx=19 %

® {xlxe 0<x<18l 7]ofE)
@ {x|x= 50 "] 72] v

® (x]x= 5xx=129 AA%)



A= (x| 25 6 oI3ke] A% o HRAG FoIH E4E Holw 17
g W A4

D 1274 @ 1670 ® 3274 @ 5670 ® 6471



4

;S

e

A

= {_I,D,E’E}’ B = {E’L’D’E}Oﬂ 5l Ac B

o3 B A u,[[Joto] SolZ 92 A& AR T8 2L

O T,

=

@j’t @j’E @1_’*1 @E’E



10 T]qte]

= {x|x&

A=1{1, 2, 4,6,9, 10, 13}, B

5

o =

9l thojo] Z17 ol A

©
=

shel ot
spolat,

;L



o]

skl {(B-A)U(ANB)}-A

® A°cCB



10. AAR U o = 2 A, Bl Histe] v 75| shofet
[(A-B)N(B°UA)]U[(AUB)N (B°UA)]

D L
-



=(ANB)U(AUB)°

Sl A+ B

@ Ax¢=AC

=Bx*xA

O A=+B

@ AxA°=¢

U

® AxU

— A€ % B¢

® Ax=B



A= (x| xt ik 2 49) W) of distol s ¢ A 0] T 12 € A
SHe BE Al n o] §S Totoler,

=

=









@ BcA°|HANB=B

@ Bno=9



16.

T A A, Bl "5t n(A) = 23, n(B) = 39,
ke[ ot Eojd 4= gl 71 %0t ofd
H7]
A-B[ ]A
D € @ c ® > @ ¢

AUB) =62
R



@ ocA

D oecA

@ {0, 1} A



s

—_—

Slol ANB=A%

A, Bl o

T

__OH_
!
i
-

U=11,2) 9 F HEH

T

Tot
I

]

Al

%l

18.



A& P, 0 ofl diote] A At a & XaYy = (X-Y)U (Y -X)
k&St W) A = {1, 2, 4, 8}, B = {2,4,8), C = {4,a} °l| Ti5}q

1T =

oheT} bR g o) e

(AaB)AC = {1,4,9)

@ 6 @7 ® 8 @ 9 ® 10



wAHel A, B, C Al F77F

S}
of

<k

ol

—

=AF

s

A Aol

4,n(ANBNC) = 20|t} Al &

n(ANB)



